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SUP. FIG. S1. The pharmacokinetic model fits are shown for the left kidneys of all 3
subjects. The omitted right kidney results look similar to the ones shown above. The
black data points represent the concentration measurements in the cortex. The
green curves are the fits calculated by the model. The red and blue dashed curves
represent the arterial and tubular components of the fits respectively.
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SUP. FIG. S2. The GFR estimation error (%) at different alpha and true GFR values.
The dashed line shows the alpha value used in this study.



